Question Paper Title : TI_09

Date of Exam : 07-07-2019 10:00 AM

Reference 1D:(5998) SR @l e g i sifdeara gid Iadid, &R Eeiete SIoTdr deed daR Gl ?

(I

e

Answer:

Reference ID:(4733) T 81 SR dead!.’ IT drerdl FANT 3fesl.

A.HTd
B.SHUI

C. IR
D.dH FHHull

Answer: B.ﬁUﬁ
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Reference 1D:(4966) TR} Plel.
98,65,78,98,86&79

A.98
B.84
C.56

D.85

Answer: B.84

Reference 1D:(4441) Choose the option that best punctuates the given sentence:

The little girl asked her mother are we going home now.

A.The little girl asked her mother, “Are we going home now?”
B.The little girl asked her mother, “are we going home now”.
C.The little girl asked her mother “Are we going home now.”

D.The little girl asked her mother. “Are we going home now.?”

Answer: A.The little girl asked her mother, “Are we going home now?”

Reference 1D:(4745) gaTHSIUC ¥l FICRC I &TUMRd 3i-| PUIERIRCRER I E
TR B,

NI SIRED

B.Y-

D.«d

Answer: B.Y4

Reference 1D:(4952) AIpYd] U HRUATITS! HIUTE! U G, ....... S 310l Hdl I,

A TS TTRERT
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C.HST 3T

D SRy

Answer: D.Fged SHiUsRI

Reference 1D:(4701) Choose the correct form of verb for the given sentence:
We in this house for the past 15 years.
A.has living

B.have been living
C.has lived

D.has been living

Answer: B.have been living

Reference 1D:(5999) SR mt25=A HIOT m-25=e, A0 A T @ A &1 TaeT 3TH?

25+e=4A

Answer: S0+e=4A

Reference ID:(4951) oty AIfgdt STANT 3n1fdr Ia A1t AR fAvky, (SMREteim) wifget Sifrer
AfAfFTH, 2005 TN HEH _ 3Hid SUTHRS 3R,

A19(7)
B.19(2)
C.19(5)

D.19(6)

Answer: A.19(7)
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Reference 1D:(4980)

Answer:

Reference 1D:(4955)

Answer:

Reference 1D:(4720)

Answer:

Reference 1D:(4728)

GH B UhTada! Bhdhedd, 93 MU SHTId] B 3HTg?
AA/9
B.6/1
C.3/6

D.4/6

A.1/9

3T T B TR IuAT 3R

B.dTdl

C.un
D.AHar

D T

ECdEISISIEICC!

AD ¥, B¢ - faRiyaxie Hacuanh sfeay
B.§3d, 2N - P Rax® dHaauantt s
C.R1a-Rra, 3R - snydeRics Haauanit sfoug
D.3R, 38! — YNeERIS Haauantt sera

c.Ra-frg, 3R - 3nydexie Haauartt ey

Trefieiten! SRft Teg Agaar wafy fRas.

A GRS, Fomoft
B €IS, &g

C.3Sfdbr, TrH
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Answer: C.&E’ﬁv_\ﬂ, ATH

Reference ID:(4985) SRR A BT B U&T 39 318, C 8T B U&T S0 38, TfUT D BT A U&T 710N 3iTg, TUT

C U&T 39 31T, TR Il Jald SITUM HIuT 31872

AD

B.C

CB

D.A

Answer: B.C

Reference ID:(4971) SR qUwT XMSURE IRITIA 3R 1.2 T, 311g i1 Suar arervdran ot 3
fop et/ 3Rid, R YT TRIURIA 3T [MSd SITUITTST ST 95 &1

A.2 a9 30 faife
B.24 fafae
c.36 fafae
D.2.5 fffe

Answer: B.24 fafae

Reference 1D:(4440) Choose the option that correctly spells the words to be filled in the given
sentence:

The prepared a special

A.bakerry , confictionery
B.bakery , confectioner
C.bakeery , confectionaey

D.bakeary , confectionery

Answer: B.bakery , confectioner
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Reference ID:(4711)

Answer:

Reference 1D:(4706)

Answer:

Reference 1D:(4726)

Answer:

Reference 1D:(4442)

https: //wwwvf\fes eron

Combine both the sentences below with a relative pronoun.

That is my friend Gautam. Gautam has opened a new showroom.

A.That is my friend Gautam who has opened a new showroom.
B.My friend Gautam has opened a new showroom.
C.Itis my friend Gautam that has opened a new showroom.

D.A new showroom has been opened by Gautam that is my friend.

A.That is my friend Gautam who has opened a new showroom.

Choose the appropriate prepositional phrase for the given sentence:

reach early, | took the shorter route.

A.In order for
B.In order with
C.In order in

D.In order to

D.In order to

‘aie uroft e AT aTarRRTET 31 -

AT DRST TSI,
B.dlISTa Uruft geur.
C HTsRUI.

D.dlg Ju.

C.™ITeRUI,

Out of the following options, choose the sentence that is punctuated
correctly.

A.What's happening? he shouted.
B.‘What’s happening?’ he shouted.

C.‘Whats’ happening?’ he shouted.

s hap enln I'H
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Answer: B.‘What’s happening?’ he shouted.

Reference 1D:(4974) A T®H HTH 6 feadid H= Udhdl. A 310 B THEAIRAT d S 2 feadid d=
ST, dg] Udhel B d & fdhdl fadid o hdi?

A4
B.3
C.2
D.5
Answer: B.3
Reference 1D:(4448) Choose the option with the appropriate suffix to complete the given
sentence:
Today’s edit in the Times of India is thought provoking and has been
written in a profess way.
A.-ings, -ing
B.-ing, -orial
C.-or, -ion

D.-orial, -ional

Answer: D.-orial, -ional

Reference ID:(4970)  a¥Tasaial SveAT fiagH HTferant ol o

13, 32, 24, 43, 35, , 46, 65

A.45
B.52
C.54

D.55

Answer: C.54

Reference ID:(4959)  =gRI-1 g1 =0T UMY 3{¥dId.
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Answer:

Reference 1D:(4981)

Answer:

Reference 1D:(4716)

Answer:

Reference 1D:(4982)

Answer:

B.Ugpd
c.dd

D.HIT

ca

52 BTSN UHHYT G BTs BIGAL. o ol SRITATH U BT 3MTg?

A.1/221
B.220/221
C.15/221

D.100/221

A.1/221

WU BIvTd [T SRS 3178 2

A BTN 3o AT HIT ST,
B.h AN S{eggi faHdki U RTdTd.
C.HIAUIN 3oFd HIGATIYTT T,
D.hacIyNT SfeiHes HTY ]HT dTed.

D.HadvAN e HTSHT ]MHT dTad.

2000 HE WA= a7 HiTsaR! gidl. Wielidud! HIurar auiHed df Idar
Jgd?

A.2001

B.2002

C.2003

D.2004

D.2004
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Reference ID:(4724)  Xd WU WIUA UGy, R YegTdl gaRT 3 WIelictert HIordr 318 2

AT B0
B. TSIl Uax
C IR 4TI

D.U% %

Answer: B. TSI UaX

Reference ID:(4718)  WTolicieh! URIITGRIc hadydt (e ShIUMdT 31Tg ?

AWhddhs
B.3{glal
Cdr

D.3f=s81

Answer: AhdhsS

Reference ID:(4714) ‘3T T QeI [ fdhdl Siei- AUIRT Xeq IUIAT?

A ST
B.3{Ta%

C.Hld¥=

D.9ig=0[

Answer: D.9ig=0[

Reference 1D:(4703) Choose the option that best transforms the given sentence as directed:

He is very old. He cannot walk.
(Combine the two sentences into one sentence)

A.He is so old but cannot walk.
B.He is very old and cannot walk.
C.He is very old enough not to walk.

D.He is too old to walk.

Answer: https://wvinfses kersiice wesiky/previous-year-question-papers/



Reference 1D:(4750)

Answer:

Reference 1D:(4439)

Answer:

Reference 1D:(4735)

Answer:

Reference 1D:(4702)

(3RET3m) AIfeeht iR ififaH, 2005 =1 Siviar fAHTM3idd Tt
eI Aol UTYHRUM S Hlfgd! [HSTAUaTS! 315l Hee Jahd?

A6
B.7
C.8

D.9

A6

Choose the option that has all words spelt correctly:

A.servant , guidance , assistant
B.servent , guidance , asistant
C.servent, guidence , assistant

D.servant , guidance , assistent

A.servant , guidance , assistant

&R BT e WHcUeh! HIUTAT S AR Wsg 31372

AT,

B. 3T, 3
C.a9, TS
D.RR&R, TH

AT, TH

Select the suitable determiner from the given options to complete the given
sentence:

Have you watched of the James Bond movies?

A.few

B.any

C.littl
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Answer:

Reference 1D:(4740)

Answer:

Reference 1D:(4722)

Answer:

Reference 1D:(4736)

Answer:

Reference 1D:(4705)

D.a few

B.any

DIUTAT GR&TH U7 goied] Uida dlaadi xdrdtan fagifdd Hdl?

A 3E-3A-I8T
B.3G-3a-th7

C frare-3a-sit
D.qe3H

A 33-3A-IaT

3PSl Yl Jetcrte] Hiorar 3 sRieR ATl 2

A=
B.USH HIUIN HTUY
c.fdgar At

D.d[%GR cIdh

B.USM HRUMR HIUR

TR1&/ AT RIbddrd.’ a1 areddid o 3fiesgd forel.

AHAT
B.R1ere
c.Riefaaa

D.fRr&feh g

AT

Choose the appropriate preposition to complete the given sentence.

Gemmais bad ___ tennis.

A.in
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C.over

D.about

Answer: B.at

Reference ID:(4729)  RIeqidl AT 31ig facieh gabrd! il i,

AHIP - RIS

Answer: C.Poll — RO

Reference 1D:(4954) PHIUTT TRTST ST GRARIT Bl RIGHRA AT RIGYUl HeThIemrd! Ja-T

&l gidi?

A BT T8

B. ATl HERTS!
C.BAY fRrarsil
D . FHTSIt TrgTeil

Answer: C. AUl Rrareh

Reference 1D:(4708) Choose appropriate conjunctions for the given sentence:

| like you alot ___ you are kind smart.

A.but , and
B.if, and
C.because, and

D.although, while

Answer: C.because, and
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Reference 1D:(4704) Choose the correct form of modal auxiliary verb for the given sentence:

If | were you, | consider the job offer seriously.

A.ought
B.can
C.would

D.must

Answer: C.would

Reference 1D:(4730) TR TRY 30T o TRy 7 et o -

ATRSS Seded] Al SRl Uvage HH Siddrd! dNTd.
B 1 eel °ol.

C.JTE FHRITGT TR 9.

D. 31U HTH T Dt SUDHR HIUMIT gdl 7 B

Answer: D. 31U HTH T Dt SUDHR HIUMIT gdl 7 B

Reference 1D:(4444) Choose the correct form of adjective for the given sentence:

Don’t overtake on a corner!

A.blind
B.blunt
C.sharp

D.steep

Answer: A.blind

Reference ID:(4743) SR HERTY WIC3HY JITg AT defl SITdl?

ATRRIY e faere menises
B.HERIY Isd Fa3UshH HIc]

C. 3rfogaRT 30T HifSTeh el HeTerrerd
D.HERIY U=y ezl
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Answer:

Reference 1D:(4723)

Answer:

Reference 1D:(4953)

Answer:

Reference 1D:(4964)

Answer:

Reference 1D:(4742)

B.HERIY g Ta3UshH HIc]

TR fHdt HaH 3MTg BT YT, URRId Haauantt /caarEl UhR 3o,

A fifreRi®
B.3MgiGRi®

C iR ReR®
DRI GIRICH

B.3Mydcie®

HERTY I Spyd] SHUDBR NI T G- HIg ClhUgrAl
URATTAd 3MYRTGR BN HRUITITST el IRBIRAT 1 JeH g
AW 3T

A HEIT GafelT ST

B.hgld ST faHMT

C.arfir 3= e Has (S
D.HRdTd G- AT

C. AT I Ty Hes (S1)

&H quiydf afSard ag Garear aara 5 Ue gid. $YA Urd qui-R dfsdid ad
el 9arAT fawe 3id. @R afsdid e 9y fadi?

A.35 99
B.37 a4
C.40 a9
D.42 Y

B.37 9§

IS LS HIVAT A HRADBRI YD T-A 70 di- Tegd Afa
U Pl Bll?

A SIS ARTYUT AT
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Answer:

Reference 1D:(4984)

Answer:

Reference 1D:(4709)

Answer:

Reference 1D:(4715)

B. 3l YU Ui

C.ARS $UR Tl

D.gUTY I T

B. 3l YU Ui

TIgaH A A TIUa! B U8 20 3 SR idl. SR 3807 A SYa! B HYT eaelt A
T 50 HA RIMIGRI dail, dR Tl A 7 TIqell B =T frwe It gldie.,
gea: clud B Tt Gt G 3G,

A.220
B.110
C.200

D.100

B.110

Choose the correct form of expression to complete the given sentence:

NASA reported a hyper sonic aircraft is being designed for military
missions and as a space launch vehicle to carry supplies

A.there is
B.both
C.not only

D.that

D.that

WIeHciep! HIUAT aTeTd fhaTfaRIvu /e SHATY! SST-TUHTO! aTuR
HaT 378 ?

AT P! WIUIR & 8T YUIR.
B.-Thl AIRTel! TG0 dl ARTYRe el
C. 519 groft g a e S,
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Answer: C.S1Y gruft Eﬂﬁ qY AN STH.

Reference 1D:(4961) gt 31for araiaeie Sfar 7 Hiold ST

AT giHey

B.UHTY Iy
c foramter
D.HIex

Answer: B.YBIR Iy

Reference ID:(4978) i 3gTed! Alg=uiHed UHT glcad! AU caahdR] 88% STI0T IART auiHe
44% 31d. ot auiTst TRIERT Sifary cadhar &1 3Mg?

A.50%
B.55%
C.66%

D.70%

Answer: B.55%

Reference 1D:(4710) Choose the correct form of verb that is in agreement with the subject:

If | you, | would have agreed to the solution.

A.was
B.am
C.are

D.were

Answer: D.were

Reference ID:(4960)  UcIfradd AHNIG: BUH 3fio@d Sd.

A DTS I
B.lUg= 9
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C.Uiey 9
D.fgxa 9

Answer: ABTS I

Reference 1D:(4979) 1-2+3-4+5-...+99-100 + 101 R 3T

A.-50
B.50
C.51

D.-51

Answer: C.51

Reference ID:(4738) ! OT fayaciial R i,

Al
B.&H
C. BRI

D.gd¢Y

Answer: D.gd¢Y

Reference ID:(4976) Ul 99! fhHd doiea et 40% dTadt ST Suie-iaR o 20% HH! HRUATT
3{Telt. A1 fhadiaed Ul fadt cde d1g 3iTell d dler?

A.66%
B.67%
C.68%

D.69%

Answer: C.68%
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Reference 1D:(4746)

Answer:

Reference 1D:(4969)

Answer:

Reference 1D:(4741)

Answer:

Reference 1D:(4713)

4 It YRA-P RN A7 3T doi w=ai=a dame Ifd
I Y ST bl Tt gia.

AIRES
B.3H

C. 741 feet
D.ToRTd

C. A4t feet

qI e ST fag ATt ol axT:

4, 23, 60, 121,

A.212
B.221
C.241

D.242

A.212

Rami— i [aRIUS HId @H IHT 3R ARG ITdR Riareii<ar aRad
TUNTIOT HRUMR & AATed fafged Tid, e ok T S0Ted SiT3, T

A TGS
B.facq ug

C.HIg-T

D. &

A TGS

Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

I've been beating my brains out to find a way to get the money to her in
time.

A.eagerly waiting

B.think very hard

https://www.freshersnow.com/previous-year-question-papers/



C.hitting my head hard

D.sweating out

Answer: B.think very hard

Reference ID:(4721) VDI S BRI TR T IgUi 34 -

Al U YU G T STUTe S A dlcd o Hul.
B.fd=IR 7 Rl Sicul.

C.Xqd:d ANTa AT gHatod arse fefqu.

D.®IUIds! e HRAMI ThUBIAT 1Y U,

Answer: AT U U0 g T STUIT o I dlcd o Hu.

Reference ID:(4983) U Yed 20 Yhg A Teh WY HTMUT 100 Hiex WiehIH 30 JdhaiHe] UR Hd.
EEIICIEIE]

A.100 Hiex
B.200 TR
C.300 Hiex

D.400 HIc?

Answer: B.200 Hiex

Reference ID:(4962) UG fSddb &l 9] fapa 3aRT 3178,

AHET

B.ag®

C. g4

D. FAURER

Answer: B.@W
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Reference 1D:(4739)

Answer:

Reference 1D:(4737)

Answer:

Reference 1D:(4732)

Answer:

Reference 1D:(4968)

WTetaUd! HIvrd fSHT0r 3ifeids grven! SITfde aRTmeT fowmume gaifay
CASKIR Y

A.TfeTtheT gl

B.hRedr= ufl

C.feRIa My 3fUr 31 Seh! TRIRIRAT G SHRA TG
D. B Rrareh g @fiead)

C.fegaeRig M 3M1for 31 St IR IF SHRA g

d,s, 3, d, 3, 3§ BV faHsi= Ty 3med?

ATYHT
B.fogctan

C.qam
D.goqHt

D.gH

TMedTel YH! ad Ha?’ a1 Tuidr 31 -

A.gJ TTE Ul

B. @l aiTedn ST fdhAd desd AT,

C. @i shardl SUGRT Il .

D. 31U TH e Us udd TETaRi e Sieul,

B.JdT IiiTedt ST fhHd dwd A,

Greil faciean Afdsae sidid U fafkiy %a faae 3iie. AAR gohidT Y
3fics:
1,6, 13, 22, 32, 46

AA13
B.22

C.32
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D.46

Answer: C.32

Reference 1D:(4967) TohT [y SisHe, LUTE @ MUTE 31 faifgd ST 311foT FATE @ GATE 3/
fofed ST, aR o1 HlsHed BLUE &Y forfed Sea?

A.CLUE
B.FLUE
C.SLUE

D.GLUE

Answer: A.CLUE

Reference ID:(4972) “FIGHT” XTsarA 31eRTd! fard! i TR Aigui dell Siiss Jdhd?
A.120
B.115
C.110

D.105

Answer: A.120

Reference 1D:(4731) IERCIGIR R RSIC AR IR RS Gl

AN
B.HHUf

C. I
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Answer: A.HTd

Reference ID:(4963)  RIHE YRR Had HST 3 HRU] .

A TR} & B R SO Y BIOTRT &9 aTgad
B.d ¥Rl & dTedd 3101 Uged BIUIRT <l drgdd

C.d U=l &5 HH! B ST TRIed BIVIRT &6 HHT Bl
D.d W= & aTead STl Ugad BIUMRT &1 HH! Hd

Answer: AT TR &5 ST B SATIOT TR BIVIRT &9 dTedd

Reference ID:(4956)  HiAl URYCHE Ud UUTHRTE HATH! THU ST &1 Alpay<dl UHUl o
BSESIE] Tadb U SR 3L 14,

A.10%
B.15%
C.16%

D.20%

Answer: B.15%

Reference 1D:(4447) Choose the option with the appropriate suffix to complete the given
sentence:

| wonder what'’s in this myster package?

A.-y
B.-ious
C.-ical

D.-ify

Answer: B.-ious

Reference ID:(4725) TR’ T eqTe! HIGHT S5l

A 3MieRi®
https://wwatfeglrersnow.com/previous-year-question-papers/



Answer:

Reference ID:(4717)

Answer:

Reference 1D:(4443)

Answer:

Reference 1D:(4748)

Answer:

Reference 1D:(4986)

C. UM%
D.T¥HfacRl®

D.gafdei®

B T3] HTYUr T dTrERE 37 -

AT 0L,

B.fayrrara &),

C.3Y H1U.
D. 5 &I,

B.fayrerera o,

Choose the correct form of adjective for the given sentence:

My father has

trivial things.

A.most
B.more
C.much

D.the most

B.more

patience than my mother who loses her temper for

e esave  Id fver ordew i

Afbde
B.dRbedld

C.padld
D.gl!

Afbde

QI 2-3ih! HBAET UIHR 2028 3HTg SO el T 13 3715, aR 1 AT
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A.26,78

B.39, 52
C.13, 156
D.36, 68
Answer: B.39, 52
Reference 1D:(4446) Choose the correct form of the noun for the given sentence:

is better than cure.

A.Preventable
B.Preventing
C.Prevent

D.Prevention

Answer: D.Prevention

Reference ID:(4719)  TadgA fdvar SIS UM Rsqid! abial olle! el
AHSl - TSt
B.ITST — el
C.T3 —drs

DX — AR

Answer: A.ao_so[ - TIEPI

Reference ID:(4734)  GaM 3{iaT @ieal.’ IT I HH NSGH forgl.

A. 3T
B.gdM
C.3{TqT Wl

D.dTeedl
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Answer:

Reference 1D:(4449)

Answer:

Reference 1D:(4744)

Answer:

Reference 1D:(4450)

Answer:

Reference 1D:(4965)

A.3{TdT

Choose appropriate articles for the given sentence:

Those in ____ know are already excited about ____ innovation.

A.the, the
B.a, an
C.a a

D.an, an

A.the, the

3ifaIeR 2018 ol YaSAL TTYUHSAITHC STfes 31 fas SHior s
DI Sfqel STt St Aeft @i

A1 at
B.10 3
C.50 3

D.19 dt

D.19 dt

Choose appropriate articles for the given sentence:

Andaman and Nicobar Islands are ____group of islands at meeting
point of the Bay of Bengal and the Andaman Sea.

A.The, a, the
B.A, the, a
C.An, a, the

D.The, an, a

A.The, a, the

G o T IRIRT 32 T 3115, Th gu-=ATue 16 aui-i 13T 318, R
1 &H ol GeaTd a9 3R
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Answer:

Reference 1D:(4707)

Answer:

Reference 1D:(4975)

Answer:

Reference ID:(4712)

A.34 aY 30T 50 9
B.20 Y f1f0r 36 Y
C.24 9§ 3107 40 Y
D.32 9y 3f1f0r 32 9

C.24 Iy 3for 40 I8

Choose the most suitable conjunction to complete the given sentence:

He found his wallet he had left it.

A.while
B.when
C.where

D.wither

C.where

A el A, B 3If0T C A Teh a9 Y& DHRUGMTA!, 3JshH 3000 ¥U, 5000
ST 30T 7000 FUTTH I dball. I RIGel 100000 FU Tael A1

s;g;mmsﬂazfs% o G ol SIld. B dT dTeT 81 A =T dlearue faedt oiRd
?

A.20000 3T
B.10000 3T
C.5000 3T

D afctes! HIurdg et

B.10000 3T

Choose the correct form of tense for the given sentence:

He his PAN card right inside the drawer, where he it.

A.will found, will keep
B.is finding, is kept
C.finding, keeping

D.found, had kept
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Answer: D.found, had kept

Reference ID:(4727) Sl Xeg H HERIPIiTd IAgarai=a sicHTS e A ST, QT ---mmmemv e
BT,

A TR
B.d&H

C.dd
X:AGANI

Answer: A.a'-‘ZIGT

Reference 1D:(4445) Choose the correct form of the noun for the given sentence:

Many people face a lot of when they have to educate their children.

A.hardness
B.hardships
C.hardiness

D.hardly

Answer: B.hardships

Reference ID:(4973) SR 12 G fdvdl 18 Higell Th 1 14 fGadid ®rd SMdld, OR 8 T AT
16 AR o B Yol HRUFRITA! fobett fgad ANTTa?

A9 feaa

B.10 faa@
C.12 feaw
D.14 fead

Answer: A9 feayg

Reference 1D:(4977) 20% T ARNUTS e TR, TUIh! fhdd 20800 T 3Tg. Ges fhaa
P 3HTG?

A.32500 3T
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Answer:

Reference 1D:(4957)

Answer:

Reference ID:(4747)

Answer:

Reference 1D:(4749)

Answer:

B.30500 ST

C.31500 3T

D.33500 ST

A.32500 ST

NG 9T A5 gT foheedTal gEHET Jh Rl WS- uRaAfdd
31872

AJARC
B. AT G718
C.§9=

D .95 dl &S

C.gdTeC

2018 A HERTYMYT SIeiaRUl SUHE UsT S REBR Wieliciusb! Bl
fSipetr?

At Reldbid Uedhr
B.URITd HHIHR
C.aRYad @TS

D. gyl UDIR

A4 TRAIDIT e

26 S 2018 it YT HTd, I HERIFMHEI BATTH fag 30T FraTores
RIS QI A HRUATA 3Tl.

A 98 3fhlaH! REHR
B.HERIY IR} [RDHR

C I Mg TRHR
D.UsT 4t
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Reference 1D:(4958) dTehTai SiF ISTHYT HERTY sardl (A siurr areft gimef?

A.1956
B.1960
C.1962

D.1964

Answer: B.1960
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